Unique Auctions Catalogue 16 Nov 2016

1 2 pine cabinets 30 A bevelled mirror 2 A set of pine steps in original green paint 31 A collection of framed & glazed nostalgic prints including fox & hounds & military 3 A pair of wooden steps 32 A boxed Scalextric Tourers 2000 set 4 A Victorian meat barrow 33 A 2 drawer pine desk A pair of large metal wheels 5 34 A 2 drawer pine desk 6 A metal hand drill 35 A boxed jump jockey electric steeple chase game 7 A pair of cast metal small wheels A Bradfords editions RAF 90th anniversary dawn 36 8 A quantity of various tools patrol clock 9 A cherub bird stand 37 A coal effect electric fire (sold as seen) A squirrel planter 10 38 A lead glazed hanging shelf 10A A quantity of handbags 39 A 19th century mahogany Fred Laycock cleck 10B A 1930's oak side table heaton round wall clock by the Ingram Co USA. 10C A Vienna wall clock with replacement door 40 A 1930's oak bureau 10D A Flymo hedge trimmer 41 An old wall clock 10E A bronze patinated brass horse & cart, cast iron 42 A large bottle/wine rack kitchen scales, silver plated items & a truncheon 43 2 vintage suitcases 10F A pine cheval mirror A 1930's leaded glass porch lantern with bracket 44 10G An American rocking chair 45 4 American Indian figures 10H An early 20th century oak grandfather chair with 46 A quantity of sea shells & coral gold draylon covering 47 3 gold plated ceiling lights 10J A fiberglass garden feature fountain 48 A quantity of framed birds of prey pictures 10K A 19th century mahogany tripod side table by H. Bray cabinet maker, Horncastle 49 5 leather suitcases 11 A large 2 door pine cabinet 50 A quantity of Victorian decorated glass vases etc. 12 A 1960's display cabinet 51 A quantity of American Indian related items A wolf group & wild animal group figures A/F 13 A Victorian pine astragal glazed cabinet 52 14 A Victorian painted pine 2 door cabinet 53 2 cased butterfly scenes & cased decorated eggs 15 A mahogany modern display cabinet 54 An African figure group A quantity of miscellaneous items including 55 16 A pair of Murano glass dancers candles etc. 5 Wade barrels, a kiwi decanter, 2 beer steins, a 56 17 electrical tool sanders tankard & a goblet 18 4 leather suitcases 57 A collection of Myth & Magic figures A gilt framed mirror & Pears print etc. 19 58 2 carved cameo shell lamps & conch shell lamp 20 A galvanised greenhouse heater 59 A baby elephant & 2 elephant groups 21 A wooden nativity display 60 A box of car books etc. 22 5 prints of Lincoln 61 A carved African mask & carved bust 23 A HP netbook computer & HP desk jet printer A/F A Murano glass figure, cockeral & fish 62 24 A quantity of jugs & vases including Arthur Wood 63 A boxed France cup & saucer & Caithness vase & overpainted Victorian glass vase etc. 25 A large quantity of mugs & tankards 64 8 assorted ornaments including pig & dog etc. A Tilley X246B lantern with box & a Coleman tent 26 65 A quantity of sea shells 27 A 1930's oak plywood bureau 66 A quantity of LP records A good fender 12 string model F-55-12 folk guitar 28 A light oak corner cupboard with leaded glass 67 doors A/F UPVC double/French doors, 2 side panels & 1 29 68 5 Wade spirit barrels etc. panel for UPVC door (no glazing, no locks) 69 3 American Indian figures

1

70	A shelf of part tea sets etc.	111	A quantity of magazines
71	A marble elephant & a marble horse	112	3 lidded beer steins & 4 others
72	4 American Indian related items	113	A carved wood Buddha table lamp base
73	A mixed lot of glassware	114	A quantity of The Battle of Waterloo related items
74	A Breed Apart sculpture of a Yorkshire Terrier, a Border Collie & a British Bull Dog	115	A quantity of silver plate including candelabra & pottery including Minton
75	A Chad Valley football stadium & case of micro	116	A collection of conch shells & corals
70	stars footballer figures	117	A box of LP records including Paul Young &
76	A figure of Markin 8 dragon figure	440	Johnny Mathis etc.
77	A figure of Merlin & dragon figure	118	A quantity of carved wood figures
78 70	A 'handbag' art glass vase & a pink 'lips' dish	119	A quantity of ceramic decanters, (some with contents)
79	5 ceramic & 1 glass decanter including 2 musical	120	A collection of 9 elephants, a hippo & an unusual
80	A collection of large sea shells	0	carved stone teapot with elephant spout & finial
81	3 American Indian figures (1 A/F)	121	2 American Indian wall masks
82	A large Leonardo pig group & 3 small 'Wise' pigs	122	A large box of pictures etc.
83	Juliana collection 'children at play'	123	4 pine chairs & a table
84	2 shabby chic style jugs	124	2 boxes of aircraft magazines
85	A sculpture of a robot made from motor parts	125	A rosewood box
86	5 elephant figures	126	A Victorian pottery soap dish, a toothbrush holder
87	A heavy Swiss brass clock by Garrard (in working order)		& Vallauris French pottery vase
88	2 dog groups & 5 dog figures including Leonardo	127	A cane 3 tier side table
89	2 pipe racks & pipes	128	4 vintage fans
90	A Quartz table lamp	129	An Indian sitar string instrument
91	2 labradors with puppies & labrador planter	130	An oak framed tapestry fire screen
92	A large Chinese floral ginger jar with lid & 2 pot pourri jars	131	A quantity of silver plate cutlery including a cased set of apostle spoons etc.
93	A box of pressed steel tin plate Tonka toys etc.	132	A tall dark wood stained tripod wine table
94	A quantity of novelty decanters (8) some with	133	An art deco fly catcher lamp shade
34	contents	134	An Australian didgeridoo musical instrument
95	A carved stone Buddha	135	A Victorian Wedgwood stilton dome
96	3 Sherratt & Simpson dog, Leeds	136	2 silver plated 3 piece tea sets
97	The Dragon Master figure group	137	A Victorian brass fender
98	2 giant panda figures & brown bear with cubs	138	A Tiffany style lamp as a lighthouse
99	2 Burberry decanters & 2 others & Burberry jug	139	2 teak topped metal framed side tables
100	A quantity of Leonardo ducks & 2 elephants &	140	A large quantity of antique books
	clown	141	A quantity of mixed glassware including carnival glass, ships in bottles etc.
101	2 samurai soldiers	142	A box of miscellaneous including 8mm Stingray
102	A tray of Die-Cast including, Corgi & Matchbox etc.	172	home movie & Boots record care kit etc.
103	A quantity of 78 rpm	143	An ornate walking cane handle
104	A carved wood warrior slaying dragon & 4 other carved items	144	A box of miscellaneous including cigarette cases & various printed ephemera
105	2 conch shell lamps	145	A quantity of lead soldiers
106	2 pairs of African busts & 2 figures	146	An album of Royal Wedding first day covers
107	A quantity of onyx lighters & boxes	147	A box of miscellaneous coins & coin display
108	2 Wade whisky bells & 2 Crown Devon barrels	,	sleeves
109	2 elephant groups & polar bear group	148	3 Royal stamp albums
110	An unusual 1920's 'underworld noisless' typewriter	149	A box of costume jewellery
			•

2

150	A quantity of figurines including Beswick Siamese cat, Royal Dux elephant, 3 Beswick A/F	192	A Royal Albert for all seasons Parkland tea set & 1 other
151	12 bottles of wine	193	An ebony hand carved bird
152	A quantity of crested ware	194	A bush valve radio
153	7 early Victorian glasses (6 trumpet shaped)	195	A quantity of silver plated & glass dishes & a tray
154	A quantity of glass animals & figures	196	A quantity of glass items including salad bowls &
155	A box of miniatures		jugs etc.
156	3 collectors eggs	197	A craved hard wood elephant
157	A cranberry perfume box	198	A large carved hard wood African figure
158	6 pig musicians, 13 Golly musicians & 1 Golly	199	A quantity of interesting china
	footballer	200	A painting of class 55 Deltic diesel locomotive
159	A Pilot-style wristwatch & Creation automatic wristwatch		name plate for D9013 'The Black Watch' signed D. Bull '80'
160	A quantity of watches	201	3 candelabra including silver plate, wrought iron & onyx
161	A chess set	202	2 pottery jugs & a vase including German dalion &
162	A quantity of small Buddha's	202	Isle of Lewis
163	A shelf of interesting china	203	A pair of imari plates & 1 other together with an
164	A box of manicure items		imari bowl
165	A flintlock lighter	204	A smokers elbow chair
166	A box of ephemera	205	A collection of early/mid 20th century children's
167	3 boxes of LP records (mainly classical)		books
168	A metal fire fender	206	2 turned wood tazzas & 2 bowls
169	A silver plated bowl	207	A box of fiction books
170	A pair of pottery Temple dogs	208	A wooden tool box & contents
171	2 heavy Murano glass vases	209	A Singer sewing machine & box of sewing materials
172	A fine crystal table centre dish with lid	210	A box of mainly birthday & some christmas
173	A barometer in round mahogany frame	210	wrapping paper
174	An ornamental 'Roman' sword	211	A quantity of vintage advertising milk & perrier
175	A pair of Victorian Staffordshire dogs		water bottles & storage jars
176	A Royal Doulton character jug	212	A box of books including annuals for
177	A Royal Doulton character jug		cowboy/western TV shows, Biggles strip book & Dandy etc.
178	3 metal boxes & a wood box	213	A box of 1930's 'The Farmers Home' magazines
179	A crocodile skin handbag	214	_
180	A fine decanter & 4 glasses	214	A box of Scalextric track, a framed print of a Nimrod, a Formula 1 picture & a formula 1 model
181	A large half gallon flask	215	A wicker bread basket & tray
182	A Wedgwood bowl, Beswick bowl A/F & Tams ware jug	216	A quantity of glass paperweights etc.
183	A Victorian copper kettle	217	A heavy brass octangonal sundial
184	A quantity of music sheets & other ephemera	218	A painted tripod wine table saucepan stand & oak foot stool
185	A large carved wood crocodile	219	4 descending Wedgwood jugs, a Wedgwood clock
186	A Mermaid table lamp		& 2 items of Aynsley
187	A set of 8 art deco style soup bowls, marked Epiag	220	A large quantity of teamsters, tractors, quad bikes
188	A cast iron door stop in form of a lion's foot		& mini's (approximately 53)
189	A Victorian spelter figure table lamp	221	A quantity of Wedgwood Daily Mail commemorative plates
190	A 1940's Casino De Paris & Folies Bergere programmes including Josephine Baker	222	A quantity of vintage Derby County football
191	A carved walking stick, a walking stick with badges & 2 other items	223	scarves, flag & rattle & Newcastle Rosette An old bedroom chair

224 225	A copper lava lamp A tiled wooden tray & 2 Port Merion plant pot	264	A cased Imperial Companion type writer £10.00 - £20.00
	holders	265	A selection of Portmeirion the season collection Anwyl Cooper-Willis and Susan William Ellis
226	A quantity of linen		£10.00 - £20.00
227	A large square table with painted legs	266	A large Indian brass topped table on folding carved
228	2 silver rim spill vases, 2 sets of cased cutlery & silver plate jug		base and 3 brass plaques £10.00 - £20.00
229	A 1970's Pyrex dinner set & retro cups & saucers	267	A quantity of vintage electrical components and items £10.00 - £20.00
230 231	A pair of 1930's mahogany dining chairs A quantity of old games including Mah-jong etc	268	A quantity of pottery, china and other items £10.00 - £20.00
232	A Victorian brass jam pan & 2 pairs of	269	A vintage Underwood typewriter £10.00 - £20.00
202	candlesticks	270	A oak glazed book shelf £10.00 - £20.00
233	A Victorian mahogany toilet mirror	271	A quantity of interesting bottles and jugs £20.00 -
234	6 carved stone goblets		£30.00
235	A large quantity of telephone cards from Greece, Middle East, Caribbean & South Africa etc.	272	8 Victorian pottery tooth brush holders £10.00 - £20.00
	Including advertising, sports & cars etc.	273	A gilt framed and glazed picture of a young girl
236	A basket of cutlery		sitting £10.00 - £20.00
237	A cased theodolite	274	2 cast iron sets of kitchen scales and a quantity of
238	An old pine box & contents		weights £10.00 - £20.00
239	2 Hilti guns/drills in cases	275	A quantity of Doctor Who micro-universe figures, Thomas the Tank engine trains and Top Trumps
240	A quantity of wood planes		£10.00 - £20.00
241	2 vices	276	A large framed oil on board of a sailing ship signed
242	2 bench vices		Ambrose £10.00 - £20.00
243	A large quantity of Royalty memorabilia	277	A wrought iron and hammered copper fire screen,
244	A Victorian elbow chair		brass warming pan and plaque £10.00 - £20.00
245	A set of 4 leather dining chairs	278	A unframed oil on canvas Harmony (ballet dancer) signed but indisticnt 91cm x 60xm £10.00 - £20.00
246	A set of 4 old chairs	279	A Royal Doulton dinner service £10.00 - £20.00
247	A set of 4 wheel back chairs	280	A Victorian mixed media portrait painting signed
248	A 2 seater settee	200	and dated 1879 £10.00 - £20.00
249	An old bureau	281	A Ricoh 35mm camera and lenses by Pentax,
250	A Victorian mahogany pembroke table		Komura etc and Olympus Trip etc £10.00 - £20.00
251	An unusual sewing machine	282	2 carved African busts and wall mask £10.00 - £20.00
252	An antique stool	283	
253	An old oxaginal table	203	A well framed and glazed print of Bubbles by Millais £10.00 - £20.00
254	An old blanket box	284	A collection of Thomas Kinkade Hawthorne Village
255	A Victorian pedestal desk		Cottages and accessories £10.00 - £20.00
256	A leaded cabinet	285	A pair of good white 3 drawer chest of drawes
257	A set of 8 chairs & a table		£10.00 - £20.00
258	An old metal bottle rack with 2 doors	286	A triple mirrored dressing table £10.00 - £20.00
259	A dome top trunk with inner tray	287	A well framed and glazed Monet print £10.00 -
260	A 1997 Nissan Micra 1000CC, petrol, 3 door		£20.00
261	Chemist scales in oak glazed cabinet £10.00 -	288	A double bed and linen £10.00 - £20.00
	£20.00	289	A jug and bowl set £10.00 - £20.00
262	A brushed antique brass effect 3 light standard	290	A Victiorian bureau bookcase £10.00 - £20.00
000	lamp £10.00 - £20.00	291	A quantity of records £10.00 - £20.00
263	A collection of Royal Doulton Demure dinner ware £10.00 - £20.00	292	A carpet £10.00 - £20.00
	2.5.50	293	A matching pair of wing armchairs £10.00 - £20.00

204	2 boxes of sundries £10.00 - £20.00		reporting \$10.00 \$20.00
294		004	recording £10.00 - £20.00
295	2 boxes of records £10.00 - £20.00	334	A box of mixed childrens books, badges, cards, badges etc £10.00 - £20.00
296	A large box of sundries £10.00 - £20.00	335	A box of misc items including Shell sconces,
297	A box of records and LPs £10.00 - £20.00	000	piano tray etc £10.00 - £20.00
298	A good box of meat plates £10.00 - £20.00	336	A box of interesting sundries including Carlton
299	A quantity of books including war interest (2 boxes) £10.00 - £20.00		Ware £10.00 - £20.00
200	,	337	A box of new dolls £10.00 - £20.00
300	A modern painting on canvas £10.00 - £20.00	338	A box of books on Royal Memorabilia etc £10.00 -
301	A boy of callectors appears \$10.00		£20.00
302	A box of collectors spoons £10.00 - £20.00	339	A quantity of silver plate and pewter £10.00 -
303	A box of records £10.00 - £20.00	0.40	£20.00
304	A box of old dolls including German porcelain £10.00 - £20.00	340	3 boxes of antiques catalogues £10.00 - £20.00
305	A collection of some 70 books on Yorkshire	341	A very good box of dolls, tins, dominoes etc £10.00 - £20.00
303	History, Topography, Costume etc including The	342	2 boxes of LPs £10.00 - £20.00
	History of Scarborough £10.00 - £20.00		
306	2 boxes of good china £10.00 - £20.00	343 344	2 boxes of china and pottery £10.00 - £20.00 A box of LPs and 45 rpm singles £10.00 - £20.00
307	An old oak box with inlaid side £10.00 - £20.00		. •
308	A good oak bureau £10.00 - £20.00	345	A Art Deco bureau £10.00 - £20.00
309	A oak drop leaf trolley £10.00 - £20.00	346	A work mate £10.00 - £20.00
310	A selection of curtains £10.00 - £20.00	347	A oak headboard £10.00 - £20.00
311	2 standard lamps £10.00 - £20.00	348	2 tin troughs £30.00 - £50.00
312	An old glove box and a tramp art box £10.00 -	349	A large tin bath £30.00 - £50.00
	£20.00	350	A large pig trough £30.00 - £50.00
313	2 nice side tables £10.00 - £20.00	351	A Whirlpool washer £10.00 - £20.00
314	A large quantity of records including Elvis, Rolling	352	A Electrolux premier freezer £10.00 - £20.00
	Stones etc £10.00 - £20.00	353	A Hotpoint Creda electric cooker £10.00 - £20.00
315	A large quantity of Stereo 8 tapes £10.00 - £20.00	354	A Zanussi fridge £10.00 - £20.00
316	A modern heater £10.00 - £20.00	355	A Hotpoint drier £10.00 - £20.00
317	A four fold screen £10.00 - £20.00	356	A Samsung fridge freezer £10.00 - £20.00
318	A chicken egg box and a vase £10.00 - £20.00	357	A pine cot £10.00 - £20.00
319	A 1950s display cabinet £10.00 - £20.00	358	A Cottage style 2 seater couch £10.00 - £20.00
320	2 framed maps £10.00 - £20.00	359	A pine glazed top dresser £120.00 - £150.00
321	4 childs chairs £10.00 - £20.00	360	A antique pine dresser top £70.00 - £100.00
322	A good quality bottle rack £10.00 - £20.00	361	A satin wardrobe with drawers £10.00 - £20.00
323	A 1960s display cabinet £10.00 - £20.00	362	A Victorian mahogany chest of drawers £10.00 -
324	4 good pictures £10.00 - £20.00		£20.00
325	A metal side table £10.00 - £20.00	363	A 1950s dressing table £10.00 - £20.00
326	A large quantity of 45 rpm records singles £10.00 - £20.00	364	A Victorian 2 over 2 pine chest of drawers £10.00 - £20.00
327	A loom chair £10.00 - £20.00	365	A 1950s 2 drawer chest £10.00 - £20.00
328	A box of good lamps etc £10.00 - £20.00	366	A small mahogany tall boy £10.00 - £20.00
329	A box of LPs £10.00 - £20.00	367	4 teo fold screens £10.00 - £20.00
330	A box of ultimate real robot magazines £10.00 -	368	2 stools £10.00 - £20.00
	£20.00	369	A teak music cabinet £10.00 - £20.00
331	A box of sundries including Ringtons £10.00 -	370	A nice white table lamp £10.00 - £20.00
00-	£20.00	371	A teak Queen Anne leg table £10.00 - £20.00
332	A box of 78s and LPs records £10.00 - £20.00	372	3 good inlaid boxes £10.00 - £20.00
333	A mixed lot of cameras including underwater		

5

373 374 375 376 377 378 379	A good old gateleg table £10.00 - £20.00 A Deco bust £10.00 - £20.00 A lamp £10.00 - £20.00 A Edwardian inlaid cabinet £10.00 - £20.00 A Victorian stool £10.00 - £20.00 A pine cabinet £10.00 - £20.00 A full folio pf pictures £10.00 - £20.00 A Victorian fold over card table £10.00 - £20.00 A quantity of Millers Antiques guides etc £10.00 -	413 414 415 416	Captain Scarlett (completeness unknown) £10.00 - £20.00 An astragal glazed small book case £10.00 - £20.00 A small corner cabinet £10.00 - £20.00 A oak dressing table £10.00 - £20.00
375 376 377 378	A lamp £10.00 - £20.00 A Edwardian inlaid cabinet £10.00 - £20.00 A Victorian stool £10.00 - £20.00 A pine cabinet £10.00 - £20.00 A full folio pf pictures £10.00 - £20.00 A Victorian fold over card table £10.00 - £20.00	414 415 416	An astragal glazed small book case £10.00 - £20.00 A small corner cabinet £10.00 - £20.00
376 377 378	A Edwardian inlaid cabinet £10.00 - £20.00 A Victorian stool £10.00 - £20.00 A pine cabinet £10.00 - £20.00 A full folio pf pictures £10.00 - £20.00 A Victorian fold over card table £10.00 - £20.00	415 416	£20.00 A small corner cabinet £10.00 - £20.00
377 378	A Victorian stool £10.00 - £20.00 A pine cabinet £10.00 - £20.00 A full folio pf pictures £10.00 - £20.00 A Victorian fold over card table £10.00 - £20.00	415 416	
378	A pine cabinet £10.00 - £20.00 A full folio pf pictures £10.00 - £20.00 A Victorian fold over card table £10.00 - £20.00	416	A oak dressing table £10.00 - £20.00
	A full folio pf pictures £10.00 - £20.00 A Victorian fold over card table £10.00 - £20.00		
313	A Victorian fold over card table £10.00 - £20.00	447	An inlaid mahogany dressing table £10.00 - £20.00
380		417	A quantity of cut glass £10.00 - £20.00
381		418	A quantity of LP records Dance, Hip Hop, promos etc £10.00 - £20.00
200	£20.00	419	A Mitre saw £10.00 - £20.00
382 383	A quantity of silver plate £10.00 - £20.00 An old valved radio £10.00 - £20.00	420	A box of LPs including Sisters of Mercy, picture
384	A oak side table £10.00 - £20.00	101	disc etc £10.00 - £20.00
385	A box of LPs including Led Zeppelin £10.00 -	421	A standard lamp £10.00 - £20.00
000	£20.00	422	2 teak dressers £10.00 - £20.00
386	A wrought iron side table £10.00 - £20.00	423	A large quantity of DVDS over 200 £10.00 - £20.00
387	A telephone table and a magazine rack £10.00 -	424	3 shelves of china £10.00 - £20.00
	£20.00	425	2 oil paintings £10.00 - £20.00
388	A video cabinet £10.00 - £20.00	426	A carpet 3ft by 5ft £10.00 - £20.00
389	A quantity of paintings £10.00 - £20.00	427	A Ryobi 3100E petrol blower £10.00 - £20.00
390	A black office chair £10.00 - £20.00	428	2 carpets £10.00 - £20.00
391	A quantity of screens and slide projector £10.00 - £20.00	429 430	A wicker conservatory suite £10.00 - £20.00 2 bedroom chairs £10.00 - £20.00
392	2 good old rugs £10.00 - £20.00	431	A pair of oka framed pictures £10.00 - £20.00
393	A fold up bed table £10.00 - £20.00	432	2 carpets £10.00 - £20.00
394	A Lord of Rings £10.00 - £20.00	433	A quantity of interesting books £10.00 - £20.00
395	A large carpet 6ft by 9ft £10.00 - £20.00	434	A teak cabinet £10.00 - £20.00
396	A round carpet 4ft diameter £10.00 - £20.00	435	A box of ephemera £10.00 - £20.00
397	A single bed with head board £10.00 - £20.00	436	A large quantity of Christmas decorations £10.00 -
398	A large pine 4 poster bed (no bolts) £10.00 -	407	£20.00
000	£20.00	437	A teak cabinet £10.00 - £20.00
399	A pine 3 drawer chest £10.00 - £20.00	438	A 4 piece teak unit £10.00 - £20.00
400	A good quality rug 80" by 48" £10.00 - £20.00	439	A quantity of handbags £10.00 - £20.00
401	A good quality rug 42" by 11ft £10.00 - £20.00	440	A shelf of books £10.00 - £20.00
402	A large quantity of stacking chairs £10.00 - £20.00	441	4 shelves of interesting glasses £10.00 - £20.00
403	A quantity of cushions £10.00 - £20.00	442	A quantity of 1990s Beano comics £10.00 - £20.00
404	2 watercolours £10.00 - £20.00	443	A large quantity of cuddly toys including Ty beanies £10.00 - £20.00
405	A large quantity of Meccano (9 boxes) £100.00 - £200.00	444	2 teak wall units £10.00 - £20.00
406	A large quantity of good clean clothes (rack not included) £10.00 - £20.00	445	No Lot
407	A pool table, cues, lights etc £10.00 - £20.00	446	A quantity of stationary sets etc £10.00 - £20.00
408	A mahogany drop front free standing cabinet £10.00 - £20.00	447 448	A mirror backed teak sideboard £10.00 - £20.00 Quantity of kniting items £10.00 - £20.00
409	An oak open rack dresser £10.00 - £20.00	449	Teak 2-drawer unit and one other £10.00 - £20.00
410	A large quantity of DVDs (approx 150) £10.00 -	450	Victorian mahogany tip-up table £10.00 - £20.00
	£20.00	451	2 painted loom chairs £10.00 - £20.00
411	A Paragon tea set £10.00 - £20.00	452	Teak effect bureau £10.00 - £20.00
412	A collection of boxed toys including Thunderbirds,	.02	22
BidMaster	Office 6		

- 453 1950s Mirror-back walnut-effect sideboard £10.00 £20.00
- 454 Teak high-back sideboard £10.00 £20.00
- 455 Quantity glassware and entray dishes £10.00 £20.00
- 456 Teak-effect sideboard £10.00 £20.00
- 457 Quantity hats and hat boxes £10.00 £20.00
- 458 Octagonal glass-topped teak coffee table £10.00 £20.00
- 459 Cream 3-piece suite £10.00 £20.00
- 460 Pine-framed triple-mirror £10.00 £20.00
- 461 White dressing table £10.00 £20.00
- 462 White 2-door wardrobe £10.00 £20.00
- 463 2 white chest of drawers £10.00 £20.00
- 464 Oak corner cupboard £10.00 £20.00
- 465 Victorian mahogany glazed-top bookcase £10.00 £20.00
- 466 Dark wood-effect extending dining table with brass lion claw feet £10.00 £20.00
- 467 Edwardian folding hursing chair £10.00 £20.00
- 468 Stained antique pine fire surround with tiled fire insert £10.00 £20.00
- 469 Edwardian mahogany fire surround £10.00 £20.00
- 470 Oak framed tapestry fire screen £10.00 £20.00
- 471 Concrete bust £10.00 £20.00
- 472 Cut-glass mirror-back overmantle with marble-top cupboard £10.00 £20.00
- 473 Victorian cast iron and brass fire fender £10.00 £20.00